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GSQ/D-21 1005

ECONOMICS
(Indian Economy - I)
Paper : Opt-1
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question Nos. one and two
are compulsory. Attempt the remaining three questions
selecting one question from any three of the four Units.

e : el Ui Y HISU Y9 G TH SR I AfEd €1 9w
T Y1 Rl IR SR 4§ fh=l i § 9 Th-Tsh g9
FHT T H
Compulsory Question

(Afard g99)

1. The economic indicators of India exhibit lesser performance

in comparison to the developed economies. The per capita
income of India is comparatively lesser than the per capita
income of US, UK and Japan. The similar trends can be
observed in case of Human development index where India
is placed at number 131 while the rank of USA is 10, UK
is at 16th and Japan has 17th rank. Likewise. the rank of
India in "Ease of Doing Business" is also low. The statesmen,
planners are suggesting various ways to improve India's per
capita income, HDI rank and rank in "Ease of Doing
Business". In the light of the above facts, answer the
following questions:
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Questions :

(a) What are the parameters of a good economy?

(b) What does poor performance in HDI mean to India?
(c) What do you mean by "Ease of Doing Business"?

(d) Why the statesmen and planners are worried about
Indian economy? (4x4=16)
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AR WUE *1 ufd AfR o @ qeMHAE ®9 @ FH 2

Ae T gadie & T9a ¥ off 36 @@ ®1 ygia e

W Wehdl , W8l 9RA 131 o TE W ¢ Wi I T
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Compulsory Question

( afrard ue)

2 A. Choose the correct answer :

®)

(ii)

(iif)

(iv)

v)

Which of the following is land reform measure :

(a) Abolition of Zamindari System.

(b) Ceiling on the land holdings.

(c) Consolidation of land holding.

(d) All of these.

Birth rate refers to number of children born per ..........
persons in a year.

(a) 500

(b) 100

(c) 1,000

(d) 10,000.

Percentage share of agriculture in national income has
been ....... in India :

(a) Increasing

(b) Decreasing

(c) Constant

(d) Negative

Which of the following is not the merit of socialism?
(a) Balanced regional development.

(b) No class struggle.

(c) Less cyclical fluctuations

(d) Consumers' sovereignty.

Who purchases bulk of farmers' produce in unregulated
market.

(a) Commission agents.

(b) Agri-export zones.
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(c) NABARD.
(d) Regional rural banks. (5x1=5)
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(v) effafafg wel o &M fHaml &1 399 ol o o
T 2l
(%) FHEH TSel
(@) sfu-fafa &=
() AETEl
() &t wro S|
B. Match the following :

1. Agriculture, Forestry, Dairy (a) Kerala.

2. State with highest (b) Cause of backwardness
literacy rate. of agriculture.

3. Social determinants. (¢c) Year 2013

4. Zamindari system. (d) Primary Sector

5. National Food Security Act. (e¢) Non-economic determi-

nant of development.

(5x1=5)
v fmfafea «1 fom =iew
(i) =fu, =it <= (®) &
(i) Sogam TERal R & U (W) I F &7 | fssm
T HT HRI
(iii) wmIfSe faRes (M) =¥ 2013
(iv) SR =rereen (a) wufgs &
(v) U e wen sfufem (v) fawmm &1 W oenfies
fruft
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C. Define the following :

(a) Life expectancy.

(b) Disguised Unemployment.

(c) Green revolution. (3x2=6)
q. fmfafea &1 9@ wifs

(%) Stad g

(@) =51 ST

(M) &R wifdl

UNIT-I

(FHE-1)

3. "Mixed economic system is still a golden path between
capitalism and socialism". Discuss. 16

‘fafy onfdep wrawen eoft off gofiae iR THNER *
9 TH gIew T ? == e

4. Discuss the concept of economic development. Also explain
the various determinants of economic development. 16

Mo fawm@ &1 Faumon &t fag=m &t enfées fawm
% fafg= frulel &1 &t ==men 1

UNIT-II

(FTE-11)

S. Discuss the features of Indian population. Critically evaluate
the relationship between growth of population and economic
development. 16
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ARG S9e &1 faearsti &1 foe=m & STaen Jis
IR iR fohm & o Gaul #1 SIAEAIHAS JodihH
ST

6. IsIndia over populated? If yes, describe the problems arising
because of over population. 16

F URA A SHGE 9 ]2 A w9 Afuew sHaen
BH & U B ATl TSNS 1 FUH i

UNIT-III

(FRT3-110)

7. Explain the reasons of widespread poverty in India. What
measures have been taken by the government to eradicate
poverty in India? 16

IRd H = &9 9 Tt T & HRON ) sAred wifsu)
9RA W T Se % fAu WaER 57 A @ SuE fRw S
® 2

8. Discuss the causes and consequences of unemployment in
India. 16

AR § SUST % HRoN &R gl i faeemr R

UNIT-1V

(FHE-1V)
9.  Why productivity of Indian agriculture in India is low? Give

an account of the government strategies to increase the
productivity. 16
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NG H ARATT T F ICEHA FHH F 8?2 IARHA TGH
% fau st wrifeE @1 = i)

10. "Special Economic Zones are the engines of export-led
growth". Critically examine. 16

‘Tt enféren & Tt emuTia dfg & 359 €1 STTelrerTe
TUETOT HIfST|
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